
Algebra RH - Answer Key        HW# 

1.           a + b + c = s   2.     q = 2a + b    3. F = 
5
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C + 32 

  2.5 + 5.36 + (-24) = s                28 = 2a + (-16)        F = 
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(55) + 32 

                    -16.14  =  s                44 = 2a          F = 99 + 32 

           22 =  a          F = 131° 
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7.  A = 
2

1
h(b 1  + b 2 )   8.   𝐴 = 𝜋𝑟2            9.  T : total # of calories 

     120 = 
2

1
h(12 + 18)   if r = 1     if  r = 5                x: number of pretzels 

      120 = 
2

1
h(30)   A = π(1) 2  A = π(5) 2                y: number of chips 

      120 = 15h    A = π  A = 25π               T = 6x + 20y 

          8 = h    25 times larger 

10.  c:  total cost     11.  e:  number of 8th graders 

       p: number of pounds where p ≥ 500          s:  number of 7th graders 

       C = 750 + .3(p – 500)    P =  Income – Expenses 

       P = (3e + 3.5s + 100) – (200 + 50 + .5e + .5s) 

       P = -150 + 2.5e + 3s  

       OR   x:  number of people taking refreshments 

       P = (3e + 3.5s + 100) – (200 + 50 + .5x) 


